o [ ] S5 1% 7~ R A IEE B

JE4 425 . 2021012313369918 KL B #: 2023 £ 03 A 30 A
HHHIAE: 2026 502 A 10 B

INEBIEABIR  BARVRIR(ID LS
BiE Attt BE, BRMR (79211), FILIBFAAE2S

FRATEE  HRRRHAT
RiAftaht EE, BRE (79211) | FABRImAL 2 S

e Taa (L 220 EARARRRID 25
BTt =mE, SRR (79211) , FIL BRI AE 2S5

FREmHRY, Bk
BE: V-p-o-00; MHBiRE: ExebllCGb; ExtalllC Da; BIfUFRIREHIIBRABRIUGRE

i, RS PETRHE,
ot GB/T 3836.1-2021;GB/T 3836.3-2021;GB/T 3836.31-2021
HRER

bR 2 FE A CNCA-C23-01:2019 FAGEARLM| A& K, 45K stif,
QL A A AIER A HOEIRIE KR 0 E 0 M B IF R,
KiEBH T PIED, WEPAAMA BN 2021 02 A 10 A

AESHE T T HRRERERAEERM (www.encagov.on) BIGEBES

[=— hd AY
R A EH L
http://www. cqc. com. cn hE - bR - FEEFFEE188S59X 100070 HiE: +86 10 83886666

Q 3187630




CERTIFICATE FOR CHINA COMPULSORY PRODUCT CERTIFICATION

CERTIFICATE NO.: 2021012313369918 Valid from: Mar.30,2023
Valid until: Feb.10,2026

NAME AND REGISTERED HUMMEL AG

ADDRESS OFTHE ARPLICANT Lise-Meitner-Strasse 2, 79211 Denzlingen, Germany

NAME AND REGISTERED HUMMEL AG

ADDRESS OFATHE Lise-Meitner-Strasse 2, 79211 Denzlingen, Germany

MANUFACTURER

NAME AND LOCATION HUMMEL AG

OF THE FACTORY Lise-Meitner-Strasse 2, 79211 Denzlingen, Germany

PRODUCT MODEL(S) Blanking elements
Type of Product: V-o-0-oa; Marking: ExebllC Gb; ExtalllCDa; The thread specification and
related document numbers can be seen in the appendix.

STANDARDS ANS GB/T 3836.1-2021;GB/T 3836.3-2021,GB/T 3836.31-2021

TECHNICAL REQUIREMENTS

This is to certify that the above mentioned product(s) complies with the requirements of implementation rules for compulsory
certification(REFNO. CNCA-C23-01:2019)

The validity of the certificate is subject to positive result of the regular follow up inspection by issuing certification body until the expiry
date.

Date of original issued: Feb.10,2021

The certificate information is available through the QR code below or CNCA's website: www.cnca.gov.cn

http://www. cqc. com. cn Section 9, No.188, Nansihuan Xilu, Beijing 100070 P.R.China Tel: +86 10 83886666

Q 3187630



A ] [ 2R 3 ) 14 = am A MEME

EPR S 2021012313369918 IR /AL2m
AIEBRMHENERER, EEERREIIERR e 3187630

1 AT RIBLME R SR B RS

FF i : ;
T Emme ya): Y g /S SRR
=
M12 x 1.5/M16 x 1.5/M20 x 1.5/M25 x
Exeb IICGb | 1.5/M32x1.5/M40x1.5/M50%1.5/M63x1.5
1 | V-Exo PROFILEID80438
ExtalllC Da | Pg7/Pg9/Pg11/Pg13.5/Pg16/Pg21/Pg29/Pg
36/Pg42/Pg48
Ex eb IIC Gb 1197120050-MTF
2 | V-MF-Exo M12x1.5/M16x1.5
Ex ta llIC Da 1197160050-MTF
M12 x 1.5/M16 x 1.5/M20 x 1.5/M25 x
o | v Ex eb IICGb | 1.5/M32x1.5/M40x1.5/M50x1.5/M63x1.5
-Ms-Ex o
Ex ta IlIC Da Pg7/Pg9/Pg11/Pg13.5/Pg16/Pg21/Pg29/Pg
36/Pg42/Pg48
M12 x 1.5/M16 x 1.5/M20 x 1.5/M25 x
1 V-Ms-FPM-Ex | Exeb IICGb | 1.5/M32x1.5/M40x1.5/M50x1.5/M63x1.5
m] ExtalllC Da | Pg7/Pg9/Pg11/Pg13.5/Pg16/Pg21/Pg29/Pg
36/Pg42/Pg48
/R9deh9 PROFILEID80439
M12 x 1.5/M16 x 1.5/M20 x 1.5/M25 x
- V-Ms-VMQ-E | Exeb ICGb | 1.5/M32x1.5/M40x1.5/M50x1.5/M63x1.5
XD Ex talllC Da | Pg7/Pg9/Pg11/Pg13.5/Pg16/Pg21/Pg29/Pg
36/Pg42/Pg48
M12 x 1.5/M16 x 1.5/M20 x 1.5/M25 x
Exeb IICGb | 1.5/M32x1.5/M40x1.5/M50x1.5/M63x1.5
6 | V-INOX-Exo
Ex ta llIC Da Pg7/Pg9/Pg11/Pg13.5/Pg16/Pg21/Pg29/Pg
36/Pg42/Pg48

kH

FRENIEH L

http://www. cqc. com. en HE - LR - EERAEE188S9X 100070 BiE. +86 10 83886666



() HEERBEHIERIAEES

JEF %5 2021012313369918 B2 F2T
NEBRMHENERGER, [EEEMRRANIERRT “5=: 3187630
2{ERRRIER:
V-Exa  -20°C~+90°C V-INOX-Ex o ( NBR EE O EE) -20°C~ +95°C
V-MS-Ex o -20°C ~ +95°C V-INOX-Exo ( FPM EE O EE) -20°C~ +180°C
V-MS-FPM-Ex o -20°C ~ + 180°C V-INOX-Exo ( VMQ #ES O ) -60°C~ +180°C
V-MS-VMQ-E o -60°C ~ +180°C V-MF-Ex o -20°C ~ +95°C
3 RUERERE:

V- o0-0-00

— BEUE(IR2)

ExBhiET M
FPMASARE, VM QTR S imt M SR B

MF, 250 R (FH BV M Qi P ) Ms, B R R R INOX A5
MR FRE R R

HUMMEL t#3L4mic

4 ShERAIRER : 1P66/IP68;
5. = REEHLUNEH A ER B,

H

FR=E AER L

http://www. cgc. com. cn hE - k3 - EUEFEES188 29X 100070 EiE: +86 10 83886666





